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Correction and Supplement to the paper
“Complex Multiplication Formulae for Hyperelliptic Curves of Genus Three”

Yoshihiro ONISHI

Correction.
p-382, £.17, The sentence should be “Unfortunatuly the existence ... is generally unknown.”
p.383, £.4, “o(v+ Pp)” should be “o(b(v+ Fp))”.
p.383, £.5, “o(v + Pp)” should be “o(b(v+ Fp))”.
p.385, £.8, “[13, p.3.77]” should be “[15, p.3.77]".
p-386, £.4, “linearly equivalent” should be “linear equivalence”.
p.387, £.5, “[1]” should be “[2]”.
113 d£+1 ” 113 dz ”
p-389, £.—12, TFT should be P
p.389, £.—9, “(i,n1 + -+~ +nj_1 + £)-entry” should be “(n1 + -+ nj_1 + £,i)-entry with 1 < ¢ < n;”.
p.389, £.—4, “0 £ ¢ < n” should be “1 £¢ < n; —17.
p.389, £.—2, “T'(C, O(D))” should be “T'(C, Q' (~D))”.
p-390, £.8, “non-singular” should be “singular” and “(0,---,0)” should be “(0,0,0)”.
p-390, £.—5, “—)\gu%u%” should be “—ﬁu%u%”.
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p-390, £.—5, “—%’iulug” should be “—%’iulug”.
p-390, £.—4, “—%u%ug” should be “—l—%u%ug”.
448_457 :‘8_4”
p-391, £.—9, Dul should be ul -

p.392, £.—4, “oy33(P) = ( 22272

2
p-392, £.—3, “.”, should be .
L 0102 — 0120

2 2
_ )\7£) (P)”, should be “0'133(P) — ((7320'31 + )\7 g1 ) (P)w.
o9 g2 g2

0103 — 0130 ©13

p.392, £.—1, “ 2% (P) = 22 (P)” should be © (P) = 213 (py.
g2° — 0220 §£22 0'%0'3 — 0230 £23
p.393, £.1, « 2227829 (py - P32 (py» ghould be 72787 (p) = £33 (p)»,
02% — 0220 §022 0203 — 0230 §23

p.393, £.2, “it must be o1(P) = o3(P) = 0 and so o2(P) # 0 by virue of 1.7.2.” should be “it must be
02(P) # 0 and o3(P) = 0 by virue of 1.3.1(3) and 1.7.2(2). ”

p.394, £.4, “A¢” should be “Ag,”.

p.396, £.5, “tw’"” should be “tw’”.

p.396, £.16, “*w’” should be “*w’”.

p.397, £.—13, “P; # P;” should be “P; # P;”.

p-397, £.—13, “pp.3.30” should be “p.3.30”.

p.397, £.—10, “(x — z(P))/G” should be “(z — z(P)) - G”,

and “Q1+ -+ Qg—1 — (n —2)o0” should be “Q1+ -+ Qg—1 +P— (n —1)c0”.
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p-398, 4.2, “——2” should be “——5”.

u U
p.398, £.—9, “w?v + P)” should be 2“1&3(1} + P)”.

p.401, £.15, “)) = ((” should be ) = (”.

p.404, £.—2, “4.2.1” should be “4.2.4”.

p.404, £.—1, “4.2.1” should be “4.2.4”.

p.405, £.16, “Let Py be a point on C such that z(Py) = 0” should be inserted.
p-405, £.17, The last “P” should be “Py”.

p409a K‘_5> “Q[@ij (u)7 g ('l}), @ijk(u)7 @2]7@(1])‘17.77 k= 1, 79]” should be
“Q[@ij(u)a @ijk(u)7 ﬁoijké(u)a e ‘ivjz k=1, 79]”'

p.413, £.6, “y? = x° + 1/2” should be “y? = 2° + 1/4”.

p.413, £.7, “[¢]” should be “[¢]”.

p.415, £.8, “b € Z[¢]” should be “b € Z[¢] and =1 mod (1 —()”.

p.415, £.—12, “X(le”fI — 1)” should be “X((b1+771 —1)Py)”.

p.415, £.—1, “+201(u)o2(u)o12(u)” should be “—201 (u)oa(u)oi2(u)”.

p416, £.8, “¢, ;.1 (u)” should be “¢,, .1 (u)3”.

p.418, £.3, “(d° > 3)” should be “(d° > 4)”.

p.419, £.7, “c’au?” should be “c’1u?”.

p-421, £.—7, The second left bracket should be replaced by bigger one.

p.422, £.—13, The last “)” should be “)”.

p.423, £.1, “b € Z[¢]” should be “b € Z[¢] and =1 mod (1 —()”.

Supplement.
The function ¢ in Theorem 6.2.5 (resp. 7.2.5) can be written simply as %p125@111 + %502250222 (resp. as

(i + %A)mn + (—3p13 + ©22)p222) by (11) and (14) of Proposition 1.5.1.



